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QUESTION 1

Which two characteristics of the NCS 2000 describe add/drop and express patch panels? (Choose two.)
A. passive

B. coherent

C. modular

D. high power

Correct Answer: AC

QUESTION 2

How many 50 GHz channels does the 16-WXC-FS support on each port?
A. 96

B. 88

C. 80

D. 40

Correct Answer: A

QUESTION 3

For which three functions are passive module USB ports used? (Choose three.)
A. optical power monitoring

B. wavelength provisioning

C. port security

D. lamp lighting for locating

E. serial number for inventory

F. cell phone charging

Correct Answer: ADE

QUESTION 4

Which three platforms does Cisco Transport Controller manage? (Choose three.)
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A. NCS 4000

B. ONS 15454 MSTP
C. NCS 6000

D. NCS 2000

E. ASR 9000

F.CRS

Correct Answer: ABD

QUESTION 5

What does setup do with passive units?

A. They are skipped.

B. It returns an error.

C. It inserts a placeholder in the rack diagram.
D. It prompts the user for more information.

Correct Answer: C Question Set 1
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